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Which of the following statements about macroeconomic concepts is correct?
The Phillips Curve illustrates a negative relationship between the change in the unemployment rate and inflation.
Inflation harms the economy because it makes goods and services more expensive.
A combination of monetary contraction and fiscal expansion leads to higher output and higher interest rates.
The neutrality of money implies that monetary policy has no effect on output in both the short run and long run.
None of the above.

A Bloomberg News survey reports that most experts now expect the Federal Reserve to raise the federal funds rate from 1.75%
to 2% on July 30. A month ago, only a few anticipated this rate hike. Based on this information, how are asset valuations likely to
respond?

Asset values will decline on July 30 if the Fed raises rates to 2%.

Asset values will decline on July 30 if the Fed raises rates to 2.25%.

Asset prices have likely fallen between last month and today.

Both A and C.

Both B and C.

Two economies are identical in all aspects except for their marginal propensity to consume (MPC). One economy has a high MPC,
and the other has a low MPC. If both economies experience an equal increase in the money supply, how will the low MPC
economy likely respond compared to the high MPC economy? '

A smaller increase in output and a larger decrease in the interest rate.

A larger increase in output and a larger decrease in the interest rate.

A smaller increase in output and a smaller decrease in the interest rate.

A larger increase in output and a smaller decrease in the interest rate.

None of the above.

Which of the following events would most likely lead to an increase in the natural rate of unemployment?
A reduction in government spending on public goods and services.
An increase in the real money supply by the central bank.
The creation of a business cartel that restricts market competition.
A decline in the bargaining power of labor unions.
None of the above.

Which of the following actions would most likely result in both higher interest rates and lower output in the economy?
The federal government increases infrastructure spending.
The Federal Reserve increases the money supply.
The federal government implements a tax cut.
The Federal Reserve conducts open market operations by selling government bonds.
Both (A) and (D).

Suppose the interest rate in the United States is higher than the interest rate in the United Kingdom. Which of the following is
most likely to occur according to uncovered interest rate parity?
The U.S. dollar is expected to appreciate with respect to the British pound.
The British pound is expected to appreciate with respect to the U.S. dollar.
1J.S. interest rates are expected to rise even further.
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D. U.S. interest rates are expected to fall to match the U.K.'s rates.
E.  The future exchange rate movement between the U.S. dollar and the British pound is unpredictable.

7. Consider an economy with ONLY two firms: a wheat producer and a bread company. Their revenues and expenses for the year
are shown in the following table. What is the nominal GDP of this economy?

Firms Revenue from Sales Expenses
Wheat Producer $300 Wages: $250
Bread Company $500 Wheat Purchases: $250
Wages: $200
A. $100
B. 3450
C. $500
D. $550
E. $800

8. The central bank minimizes the following loss function in each period t
Le=(m—m")? + (Y, ~¥")?
where the target inflation rate is 7™ and the target output level is the natural level of output Y* = Y,,. Assume the economy follows
a linear Phillips Curve relationship between inflation 7, and output Y;, and that the private sector forms expectations adaptively, i.e.,
¢ = m;_,. Initially, at ¢ = 0 the economy has inflation below target (i, < 7*) and output at its natural level (Y, = ¥,,).
What will be the evolution of output starting from ¢ = 17
A. Output remains at the natural level for all t = 1.
Output increases at £ = 1 and stays at that higher level.
Output rises at ¢ = 1 and returns to the natural level at ¢t = 2, staying there afterward.
Output rises at £ = 1 and gradually returns to the natural level over time,
None of the above.
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Imagine that Taiwan does not export any goods or services, while Japan exclusively exports 100 Lexus cars to Taiwan, each valued
at NTD $100,000,000. Neither Taiwan nor Japan engages in any other international trade or financial transactions. Based on this
scenario, which of the following statements must be true?

Taiwan is running a deficit in its capital account.

Japan is running a surplus in its current account.

Japan is selling Taiwanese assets.

The exchange rate of New Taiwan Dollars (NTD) per Japanese Yen (JPY) must be greater than 1.

None of the above.
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10. Consider a version of the Solow Growth Model that incorporates both technological progress and human capital accumulation.
Which of the following statements is correct?

Including human capital in the Solow model does not affect the steady-state growth rate.

Human capital has no impact on the steady-state level of output per worker.
C. Assuming no productivity differences across countries, the model predicts greater inequality in output per worker than what is

@ >

observed in real-world data.
On average, poor countries grow slower than rich countries due to lower capital accumulation.

E. None of the above.
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This study investigates how monetary policy shocks influence income and consumption inequality in the United States, using household-level
data from the Consumer Expenditure Survey (CEX) from 1980 onward. The authors find that contractionary monetary policy—where the Federal
Reserve raises interest rates—consistently leads to higher inequality in labor earnings, total income, consumption, and expenditures. These effects
are robust across different measures of inequality, including the Gini coefficient, cross-sectional standard deviation, and the 90th—10th percentile
spread. The findings highlight that monetary policy is not distributionally neutral, as even typical policy changes have meaningful effects on
inequality.

A significant contribution of this paper is the analysis of the various channels through which monetary policy affects different segments of the
population. The income composition channel plays a crucial role, as households rely on diverse income sources such as labor earnings, business
income, financial income, and transfers. Contractionary policy negatively impacts business and labor income while increasing financial income,
disproportionately benefiting high-income households. Additionally, the savings redistribution channel redistributes wealth from borrowers to
savers when interest rates rise, favoring older, wealthier homeowners over younger, debt-laden households. The financial segmentation channel

exacerbates inequality by allowing wealthier households, with better access to financial markets, to react more swiftly to policy changes.

The Figure 1 demonstrates a marked increase in all forms of inequality during the early 1980s, coinciding with the Volcker disinflation period.
Over time, income inequality continued to trend upward, while consumption and expenditure inequality showed more cyclical behavior. Notably,
the data reveal that contractionary monetary policy has a more substantial and persistent impact on consumption and expenditure inequality
compared to labor earnings. This suggests that monetary tightening disproportionately affects low- and middle-income households” ability to

sustain their consumnption levels, while wealthier households are more insulated due to their asset holdings.
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Figure 1: Inequality in total income, labor earnings, expenditures and consumption in the United States.

All inequality measures are averaged over previous and subsequent quarters. Grey shaded areas are U.S, recessions.

The study concludes that monetary policy contributes significantly to short-term fluctuations in inequality, accounting for up to 20% of the
variance in consumption and expenditure inequality. However, it does not explain the long-term trends in rising inequality. The authors stress that
while monetary policy is not designed to address inequality, its distributional effects warrant careful consideration. They advocate for

complementary fiscal policies to mitigate these disparities and call for greater transparency in communicating the broader consequences of

1 Olivier Coibion, Yuriy Gorodnichenko, Lorenz Kueng, and John Silvia. 2017. “Innocent Bystanders? Monetary Policy and Inequality.” Journal of Monetary

\Economics 88:70-89.
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11. Which of the following mechanisms explain how contractionary monetary policy increases income and consumption inequality? (& % 7T 4
AR —1)

The savings redistribution channel, where higher interest rates benefit borrowers.

The income composition channel, where financial income rises relative to labor income.

The portfolio channel, where wealthier households gain from asset price increases.

The financial segmentation channel, where wealthier households access financial markets earlier.

WY 0w

The earnings heterogeneity channel, where low-income households benefit more from wage growth.

12. Based on the findings in the article, how does contractionary monetary policy impact different household income groups? (£ £ T4 R R —
3)

Low-income households see a rise in transfer income, offsetting monetary tightening effects.

High-income households experience increased financial income after interest rate hikes.

Business owners experience a significant drop in business income.

Middle-income households benefit most from rising wages.

H 90w

Consumption and expenditure inequality increase more than income inequality.
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